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EXETERZE (K01)

TH4 |R 7L &5 R 8- flidth ERREER FEX B W MERR - 5hE
TEXS5 B B HERT
THERXSy - T - &R - 5 Hirs AL Yo B &FA Yo - S T
B B HERT
= 1 1, 839, 200
FREL T
= 1 1, 522, 200
TH R T
= 1 1, 522, 200
HIRE (A TSI IE: A7) IR5
2 [R5y
m2 9, 800 139 1, 362, 200
BRELLSY 25
t 8 20, 000 160, 000
I T
= 1 317, 000
ARIBEE BT
= 1 317, 000
RIS B CRE) A 35
AH 10 16, 700 167, 000
R B (R B T
AH 10 15, 000 150, 000
[ERANE Xy
= 1 1, 839, 200
IR
= 1 581, 000
HaEGERE (FEHL)
= 1 581, 000
TR
= 1 2,420, 200
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EXETERZE (K01)

TH4 |R7{t S5 HHRMM 8- ot EREREER FEX B W MERR - 5hE
TEXS5 B B HERT
THERXSy - T - &R - 5 Hirs AL Yo B &FA Yo - S T
Bl s g
= 1 1, 637, 000
T 35Ul
= 1 4,057, 200
— R
= 1 930, 800
TS
= 1 4, 988, 000
T B4R M OVl D7 T 2 B4
= 1 498, 800
TEHF
= 1 5, 486, 800




N NN 2 BAME A4 A 2025. 05
1 /k Effﬂﬁié A i 4E A 2025. 05
TSI 1.000-00000 0.0 0
B |EEERE(ES) VESTERE: N Ty
4 2 [8143 HAAT m2 BN E R ] EAf 139
A - B E s HAAT W& B K} T 2
FEMREL OF #hX) - B 55 BLA TE R B, 807 1 9) Gre=h 7 4=t v 2t
), 14. 5kmPA R, 2 CDOE A
m2 139 139
At 139
“ M,/ m2
HAfify 139
N NAWA HAffE A 2025. 05
1 /k Effﬂﬂié A i 4 A 2025. 05
S IR 1.000-00000 0.0 0
o | BRELALSY
o HfL t HEL 1 HAl 20, 000
A - B E s HAAT W& B K} T 2
L5y (t)
t 20, 000 20, 000
At 20, 000
. Mt
HAfify 20, 000
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HLAZ

A

AH

16, 700

1 R HALZZ
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N

15, 000

BAME A4 A 2025. 05
A A A 2025. 05
TSI 1.000-00000 0.0 0
1 HAl 16, 700
SHH i B
16, 700
16, 700
M/ AH
16, 700
A E FH A A 2025. 05
A A A 2025. 05
S IR 1.000-00000 0.0 0
1 HAl 15, 000
SHH SES
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15, 000
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